Show all wd’rk, iﬂcluding mental stgps,‘in,‘a clearly orgahiZed‘way that speaks for itself. Use proper

mathematical notation, identifying expressions by their proper symbols (introducing them if necessary),
‘and use arrows and equal signs when appropriate. BOX final short answers. |
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@ Find the domain and f&nge of the function defméo\ 53 £(x) = [4-23x2,
10) \/: c3 (?wdvcf'qf;\de(eng%s)
S= G52 (six sides of area 5%, cacna square)
goq\: S'=S\(V) o
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note 1 math is case senshve so lowerase and ‘up?ercqse (ellers are
different symbds — be consistertt. T this case using A for
surface area weuld avoid miswkerpretation of Sands.
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the smalledk valve ic obviously 0 whidh oceues
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s ard it seems clear you gan get evergva\ve
o xe ["'\?";7\(3} in behoen a §9 .
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aote : always retan “exact".
“numbers and uge decimal \
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appreximdtions only when -
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